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UNIVERSITY OF NORTH BENGAL
B.A. Minor 2nd Semester Examination, 2024

UPHIMIN10001-PHILOSOPHY

WESTERN LOGIC
Time Allotted: 2 Hours 30 Minutes Full Marks: 60

The figures in the margin indicate full marks.

SECTION-I/ ela-% / @ve-&

1. Answer any five of the following: 2x5=10
FRERe @- W #li6le aeaw Tea nies
P+ gier U I RN
(a) Transform the following statements into ideal form of Propositions: 1+1

(1) Only childrens are happy.
(ii) Students are intelligent.
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(b) How can we determine the figure of an argument? : 2
i fFeiE et 3feea wieE e i 0
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(¢) What do you mean by Existential Import? 2

ARG SIeAd I6700 1 @RI 2
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(d) What is the role of Truth-value operator in Truth-Function? 2
TGN 609 7193~ rmelom e 1 9
e TSR] G-y 3O P 8T 2

(e) If A, B, C are true and X, Y, Z are false, then test the truth-value of the following 2
propositional form:
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(f) Why do we draw three interconnecting circles in Venn-diagram? 2

SO S =G 2R 7~+1ie 3@ o T (o 7
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(g) When is an argument invalid? s
Gl I 4 Oy 2T 9
T Pioet e g0 2

(h) What do you mean by Inductive Leap? ‘ 2
ST Al o700 e @R 9
3TRIE BT SF¥ept 3 &1 2

, SECTION-II / Rehl-4 / @ve-a
2. Answer any six of the following: 5x6=30
frfiRe @- 27 2t Teawies
P & U IR e -
(a) Distinguish between Deductive and Inductive argument. 3 5
SR =R SICAIR 3 W #Hd 1
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(b) What do you mean by distribution of terms? Mention which terms are distributed 9+ 1 1+14 1
* of the following propositions:

(1) None but Scientists are Mathematician.

(i1) Few flowers are fragrant.

SHT7E 171701 FET00 B @ 2 FrfeiRie Toaaf@ e #wiG e ol @
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(i) 2R FeTes Ffe o

(c) What do you mean by contrary and sub-contrary opposition of proposition? 5
Explain with examples.

Twizge! FerA! Reifte @ wli-Reidie Reatfaer i <=1
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(d) Explain Fallacy of Illicit Major and Minor terms. 5
LY H R RIS I TR
Y RN ST 7Y AL IR THEN |

(¢) Test the validity of the following arguments with the help of syllogistic rules 2 %. +2%_

(1) AOO — Third Figure
(i1) Ram is mortal, because he is a man.

fe=Cor pices s weaist frsfoiiie e fom (e Row w43
(i) AOO — TR TE
(ii) SN 2 AN, TR G728 WA
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() Use Truth-Table method to determine the following statement forms as 2149
. . 2
Tautology, self contradictory or contingent:

TP Sl AR eI ey fid e
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(g) Critically discuss the Problem of Induction. 5
SCAIR ST S0 ARER <0 50
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(h) What is enthymeme? What are the different orders of enthymeme? 2+3

RIS I <G 2 7K i Ried e AR 9
TIRrTH ST & 8T 2 QeerapT AR srévevs =ref e |

SECTION-III / &etat-ot / st

29 Answer any two of the following: ‘ 10x2 =20
e @-cim 75 2lvsm Tea mes
T 55 D IR ey
(a) What is Proposition? Briefly explain the classification of proposition on the basis 2+8

of quality, quantity and both quality and quantity.
T Bl 2 @, AT GR @ @ AR A 5T @SSR S @ @i
I & 8T ? JURRR, A S ORI 1 91 ST SeeT Sfisifey avffesor it
SAUHT STEAT TRIN |
(b) Use Truth-Table to determine the validity and invalidity of the following Sk
arguments:
FEIAN “Fafoq FRIs FwfRe erefm taret g3 staye! fifa 32
(CVN i V)]
Eva)E S~
(i) p>(g>r)
~glipor
(c) Test the validity of the following arguments through Venn-diagram: 5+5
(1) AII — First Figure

(ii) All Philosophers are wise. Some illiterates are not wise. So, some illiterates
are Philosophers.

ceAbegs MR Fefie (e e Rvm v
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(i) ATl — S STeier
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(d) What is analogical argument? Explain with examples. 10
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